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(Worksheet on Solving Basic Operation Using Ss Chara

[ A gardener has S pots of flowers. Each pot contains 9 flowers. How many

flowers does the gardener have in total?

2 James wants to buy S packs of balloons. Each pack contains 7 balloons.

How many balloons will James have in total?

3 Lﬂy has S bags of pencﬂs. Each bag contains [0 pencﬂs. How many pen-
cils does Lily have in total?

4 There are S jars of jam. Each jar contains S servings. How many servings of

jam are there in total?

5 Noah has 5 sets of Legos. Each set contains 8 pieces. How many Lego
pieces does Noah have in total?

6 There are 5 boxes of cookies. Each box contains 12 cookies. How many

cookies are there in total?
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